KFA 5561

A

A= AT vh

BB Yyh—SJE—i58

1 [E] 6818 < ERBERIYVH—SITE—H >
2EM  6AI5E < BESRUMHEMREE >
HE R 68228 < *ﬁi‘fEE yh—5RES >
RE 68280 < EREBERIYYH—STE—G >
|
6H28H
IR
18:50
6H22H M15
*ﬁ:uﬂﬂ"ﬁ"yﬁ_ﬁﬁﬂii’%B
10:00
68158 M13 68158
e th #& th BR 315 e st #& ith BR 3 15
10:00 11:40
M9 M10
6818 6818 6818 6818
BITA B37C BITA B37C
9:30 9:30 11:10 11:10
M1 M2 M3 M4
1 2 3 4 5 6 7 8

6H18
BEITA
12:50

M5

6H22H
WERYYH—5IEB
12:30
68158 M14 68158
& th # th BR 3 15 RE th # th BR 3 15
13:20 15:00
M11 M12
6818 6818
B37C B 3TA
12:50 14:30
M6 M7
10 1 12 13 14 15

—EFERZ RFPE HAeHE

6818
IB37C
14:30

M8




